SUN H THU W

MAY

2009

@)

7>

RAT

R

BEMER-LHE
BERENYHTE
RERFEREZ

- BB

C AR KEE - SRR SR BERITNE
AERURREMEE - Bt
» AR EBPI SR S AR (AN fRpR A A i_ﬁkéiézik_]
- TSR ”*%Eéimﬂﬁﬁi%EEFﬁ RELELR -
AHEE R RAE B L AURR

BEEMAYRL

Eﬁn.‘l:n\ J’/L

In the figure, DE /| BC and AB /| EF.
If AE: EC = 1:2, then areca of AADE:

area of parallelogram BFED = s: 4,
s=71?
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Given 5% —24(5%) = 25, find x.
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If 3x’ — 8x” + 2x — 15 is divisible by
(x—a),thena ="?
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If the lengths of the diagonals of a
rhombus are 2 cm and 4 cm, what is the
area of the rhombus?
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A man walks from place 4 to place

B at a speed of 3 km/h and cycles
immediately back to place 4 along the
same road at a speed of 15 km/h. Find
the average speed for the whole trip.
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If k(x*— x) + m(x* + x) = 4x” + 8x,
find the value of m.
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Find the last digit of
1"+ 2% +...+ 2009

Find the sum of roots of
xt—8x* +6x* +40x +25=10

if the equation has 2 pairs of double roots.
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The diagram shows a parallelogram
ABCD. If AE = 3 cm and BE = 2 cm,
find the area of the parallelogram correct
to the nearest integer.
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Two numbers are drawn randomly from
3,4, 5,6 and 7. The probability that the

product of the numbers is even = 7z

There are 187 apples and 36 oranges.
The apples are shared among m children.
Each child has got n apples. Two
oranges are remained when all oranges

Given ,C; = 220. Find n.

With the same radius 3.25, volume of
a cone = volume of a sphere, find the
height of the cone.

Givenx + x' =4, x>+ x> =19

Given n, 45, 48, 144, 147, 441, 444, 1332,
is a sequence, find n.

Find the total number of ways to write
96 as a product of three distinct positive
integers and 1056 as a product of five
distinct positive integers.

k=7 are shared among the same group of
children. Find n.
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Given 1 L 1 L 4 U In the figure, ABCDE is a regular The sum of the first # terms of an Given f{x) = 5x> + c¢x — 60 and f{x) = Given (V2 + V1) ' + (V3 +2)" +... Given 1° + 2° + A’ =253 find 4. Solvefor Ri 1 +2 +...+ 22 + 23 + 22
1.2 2:3 34 16+17 pentagon and ABYE is a rhombus. arithmetic sequence is #”. Find the 10" f(—x), find f(4). + (K +VK-1)" =20, find K. +.+2+1=R.
y-1 Find the value of 2 CAY. term of the sequence.
—, find y.
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If item A4 and item B EREEHBNE CHEE) The cost price of a book is $100 and the If two dice are thrown, find the number 40% of the students in the class missed B CA4 Five squares with the same size build the

cost respectively —HBE AN > RG=EES marked price is $140. If the book is sold of ways for their product being even. to view film A. They had to view another ) X B 4 square ABCD as shown in the diagram

$140 and $145 _ IME=Z N1 > I RFIM A %T 2 at 10% discount of the marked price, film but 70% of them missed again. Find Given FAERB by layering in the following order: red,
1A each, find Given find the profit. the percentage of students who missed GBD A green, blue, yellow and white. If the
the number of item B I X1+ in both films. - visible area of the blue, yellow and white
bought if exactly 2 2 GHFHB are 80, 100 and 120 respectively, find the
$6000 is spent. 30 X30! = k!-1. : visible area of the red.

Find the value of £. Find G+ H+F+H+B. A D
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